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Q. 1. (A) Read the extract and complete the activities given below : (12) [16]

At a comer of Sixth Avenue electric lights and cunningly 
displayed wares behind plateglass made a shop window

SECTION - I : PROSE 
(Reading for Comprehension, Language Study, 

Summary and Mind Mapping)

2022 III 04

Important instructions :

Each activity has to be answered in complete sentence/sentences. 
Answers written in only one word will not be given complete credit. 
Only the correct activity number written in case of options will not 
be given any credit.
Web diagrams, flow charts, tables etc. are to be presented exactly 
as they are with answers.
In point 2 above, only the words written without the presentation 
of activity format/design, will not be given credit. Use of colour 
pens/pencils etc. is not allowed. (Only blue/black pens are allowed.) 
Multiple answers to the same activity will be treated as wrong and 
will not be given any credit.
Maintain the sequence of the Sections/Question Nos./Activities 
throughout the activity sheet.
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attractive. Soapy took a stone and dashed it through the 
glass. People came running, round the comer, a policeman 
in the lead. Soapy stood still with his hands in his pockets, 
and smiled at the sight of brass button.

“Where’s the man that done that ?” inquired the officer 
agitatedly.

“Don’t you think that I might have had something to 
do with it?” said Soapy, with a friendly voice, as one greets 
good fortune.

The policeman refused to accept Soapy even as a clue. 
Men who smash windows do not remain to chat with the 
police. They take to their heels. The policeman saw a man 
half-way down the block running to catch a car. With drawn 
club he joined in the pursuit. Soapy, with disgust in his heart, 
drifted along, twice unsuccessful.

On the opposite side of the street was a restaurant of 
no great pretensions. It catered to large appetites and modest 
purses. Its crockery and atmosphere were thick; its soup 
and napery thin. Into this place Soapy betook himself without 
challenge. At a table he sat and consumed beefsteak, 
flapjacks, doughnuts and pie. And then he told the waiter 
the fact that the minutest coin and himself were total strangers.

“Now, get busy and call a cop,” said Soapy. “And 
don’t keep a gentleman waiting.”

“No cop for you,” said the waiter, with a voice like 
butter cakes and an eye like the cherry in the Manhattan 
cocktail. “Hey, Con!”

Neatly upon his left ear on the callous pavement two 
waiters pitched Soapy. He arose, joint by joint, as a 
carpenter’s rule opens, and dusted his clothes. Arrest seemed
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now but an elusive dream. The island seemed very far away. 
A policeman who stood before a drugstore two doors away 
laughed and walked down the street.

Al. True/False:

A3. Guess :
Read the following sentences and write down what it 
means.
(a) “Don’t you think that I might have had something 

to do with it ?”
(b) He told the waiter the fact that the minutest coin 

and himself were total strangers.

(a) The policeman refused to accept Soapy even as a 
clue.

(b) Soapy took a stone and dashed it through the 
glass.

“Now, get busy and call a cop,” said Soapy.

(d) Soapy, with disgust in his heart, drifted along twice 
unsuccessful.

(a) Soapy broke the glass of the shop window.

(b) Nobody heard the breaking of the glass window.

(c) The policeman chased Soapy.

(d) Soapy did not run away from the place.

A2. Rearrange :

Rearrange the following statements in order of their 
occurrence in the extract.

Read the following sentences and state whether they 
are true or false. Correct the false statements and rewrite 
them.
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(i) We can accept our life gracefully.
(Rewrite using modal auxiliary showing ‘compulsion’)

(ii) As I entered the post office, the Post Master presented 
me with a telegram.
(Begin the sentence with “No sooner.

(iii) The mother looks after her child.
(Make it a rhetorical question)

Suppose you are a manager of a hotel, a poor boy has 
taken dinner in the hotel and then he found, he has not enough 
money to pay the bill. Describe how you will react in the 

situation.

B1. Grammar / Language Study (Non-Textual Grammar) —
Do as directed :

A6. Vocabulary:
Match the following words in column ‘A’ with their 
meanings in column ‘B’.

Column ‘A’
(a) gibberish
(b) enchantment
(c) arrest
(d) pitched

Column ‘B’
(i) magic
(ii) meaningless speech
(iii) threw
(iv) nab

A5. Language study:

(i) On the opposite side of the street was a restaurant 
of no great pretensions.

(ii) Men who smash windows do not remain to chat 

with the police.
(Make the above sentences simple)
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B2. Spot the error in the given sentence and rewrite the correct 
sentence.

Summers in Delhi are extreme hot.

Q. 2. (A) Read the extract and complete the activities given below : (12) [18]

“I don’t believe in taking the right decisions. I take 
decisions, I take decisions and then make them right.” One 
of them make them right. One of the Ratan Tata’s inspiring 
words which made me dream beyond shadows. I feel 
fortunate that I discovered him in the early stage of my life 
and now I am using his teachings to mould my future the 
way I want.

Even though Ratan Tata was bom in a very posh family 
of India, he never took money and power for granted. He 
graduated from Riverdale country from New York, Ratan 
Tata began his career in the Tata Group working on the 
shop floor of Tata Steel. After working for almost 10 years 
he was appointed as the director-in-charge of the National 
Radio and Electronics Company Limited (NEL.CO) in order 
to help its struggling finances. He worked hard building a 
better consumer electronics division but the economic 
recession and union strikes prevented him from achieving 
success and this success helped Tata to be appointed as the 
chairman of the Tata Group of companies. He started with a 
very basic job in his father’s company and today he owns a 
billion dollar company.

The tag of greatness does not come without making 
any sacrifices and this tag on Ratan Tata suits to its best.

Tata group launched its passenger car Tata Indica in 
the year 1998 but Tata Indica was a failure in its first year 
and the experiment seemed to be failing. Many people started 

1 Page 5
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A2. Explain:

The writer says, “I don’t believe in taking right 
decisions, I take decisions and then make them right.”

advising Ratan Tata that he should sell the passenger car 
business. Ratan Tata also agreed to this and a proposal was 
given to Ford, they showed interest too. The three hour 
meeting at Ford headquarters in Detroit, chairman of Ford 
(Bill Ford) said to Ratan Tata, “Why did you enter in the 
passenger car business when you were not knowing of it. It 
will be a favour if we buy this business from you.

Ratan Tata decided to move back home. While travelling 
he was very tense as the feeling of being insulted was on his 
mind. After earlier failures, Tata Motors did well with its 
business of passenger cars but in the same period, Ford did 
very bad. In 2008 when Ford was on its way of bankruptcy, 
Tata Group offered Ford to buy its luxury car brand, Jaguar 
Land Rover. Ford arrived in Mumbai for the meeting. In the 
meeting, Bill Ford said to Ratan Tata, you are doing a big 
favour for us by buying- Jaguar-Land Rover is now owned 
by Tata Group and is currently making profits.
Al. Rewrite the following sentences as per their occurrence 

in the extract:

(a) He was appointed as the Director-in-charge of the 
National Radio and Electronics Company Limited.

(b) Tata Group launched its passenger car ‘Tata 
Indica’ in the year 1998.

(c) Bill Ford said to Ratan Tata, “You are doing a big 
favour for us by buying Jaguar-Land Rover.”

(d) He graduated from Riverdale country from New 
York.
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Do as directed.

(2)A6. Vocabulary:

(3)
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(B) Summary Writing:
Write a summary of the above extract with a suitable title 
with the help of the given points/hints.

Ratan Tata’s early career — early setback in passenger car 
business — his meeting with Bill Ford — his success in 
passenger car business — purchase of Ford’s Land Rover 
and Jaguar.

Give antonyms.
(i) Profit
(ii) Prevent

(i) He worked hard building a better consumer 
electronics division.
(Rewrite the sentence using the infinitive form of 
the underlined word)

(ii) Tata Group launched the passenger car Tata Indica.
(Rewrite it beginning with ‘The passenger car Tata 
Indica...... ’)

A4. Personal Response :
Right decision at the right time is important success.
Express your opinion.

A3. Give reasons:
Ratan Tata decided to sell his passenger car business.



f
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SECTION - II : POETRY 
(Poetry and Appreciation)

Q. 3. (A) Read the extract and complete the activities given below : (10) [14] 

Afoot and light-hearted I take to the open road, 

Healthy, free, the world before me,

The long brown path before me leading wherever I choose. 

Henceforth I ask not good fortune,

I myself am good fortune,

Henceforth I whimper no more, postpone no more, need nothing, 

Done with indoor complaints, libraries, querulous criticisms, 

Strong and content I travel the open road.

The earth, that is sufficient,

I do not want the constellations any nearer,

I know they are very well where they are,

I know they suffice for those who belong to them. 

Still here I carry my old delicious burdens,

I carry them, men and women, I carry them with me 
wherever I go,

I swear it is impossible for me to get rid of them in return.

(C) Mind Mapping:
Develop a Mind-Mapping using your ideas and concepts 
to develop the topic ‘Proper Time Management.’

(i) Using the title connect your thoughts
(ii) Use your own design for branching and general 

structure

(iii) Try making 2-3 main and 2-3 subbranches
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T
Qualities needed 
on the journey 

of life.

A2. Analyse the line- I asked not good fortune, I myself 

am good fortune.

A3. Personal response :

Explain the importance of long path / road in man’s life. (2)

A4. Poetic Device:
Identify and explain the figure of speech in the following 
line.
Still here I carry old delicious burdens.

A5. Poetic creativity:
Complete the given lines using your imagination.
There is no way leading back.
I move forward

(B) Appreciation:
Read the given extract and write an appreciation of the 
poem using the following points.

Is anybody happier because you passed his way?

Does anyone remember that you spoke to him today?

This day is almost over, and its toiling time is through;

Al. Complete the web diagram about the qualities needed 
on the journey of life :



deed you did

SECTION - III

(4) [16]
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(i) Title of the poem, name of the poet.

(ii) Theme

(iii) Poetic devices, language

(iv) Values

(v) Your opinion about the poem.

Is there anyone to utter now a kindly word of you?

Did you give a cheerful greeting to the friend who came 
along?
Or a churlish sort of “Howdy” and then vanish in the 
throng?
Were you selfish pure and simple as you rushed along 
the way,

Or is someone mighty grateful for a 
today?
Can you say tonight, in imparting with the days that’s 
slipping fast,
That you helped a single brother of the many that you 
passed?

Is a single heart rejoicing over what you did or said;

Does a man whose hopes were fading now with courage 

look ahead?

Points :

(Writing Skills)

Q. 4.' (A) Complete the activities as per the instructions given below :

(1) You are Gopal, a receptionist, in the office of a 
company manufacturing garments. A sales manager Mr. 
Deshmukh visited and handed over the sales report to



Gopal:

Mr. Deshmukh:

OR
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be submitted to the general manager who was busy 
attending a meeting.

Mr. Deshmukh:

(2) Statement of Purpose :

You are so much interested in fashion designing. You 
have also participated in the various competitions and 
have shown your talent. Your friend is assisting you to 
make the career in fashion designing.

Draft a statement of purpose that will help you to 
get admission for the course in fashion designing at M. 
Rajeshwar College Arts, Hubli, Karnataka.

OR

(3) Group Discussion:

You along with your friends Sujit, Rohit and Kishor

Page 11

Hellow! I am here to submit the 
available sales report to the 
General Manager.

I am sorry but the General Manager 
is in the meeting. Can you leave a 
message for him along with the 
reports?

Sorry, I have to leave immediately 
to collect the other reports. Please 
inform the General Manager, that 
I had to leave immediately and I 
will see him in the evening at 5:30 
P.M. with other reports. Thank 
you.

As a receptionist draft a virtual message for the General 
Manager.
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(B) Attempt ‘Any One’ of the following activities .

E-mail writing:
(1) Imagine that you are a shopkeeper of gift articles. A 

customer had given order for purchasing articles but 
you have some difficulties for giving delivery in time 
due to shortage. Write an email to him/her apologising 
for the delay.

Interview Questions:

(3) Imagine that you have met with the topper in M.P.S.C. 
Examination. You wish to interview of him / her to know 
his/her journey of success. Prepare a set of 8 to 10 
questions to be asked.

(C) Attempt ‘Any One’ of the following activities :

Speech Writing:

(1) You wish to take part in the elocution competition which 
is organised by your college cultural committee. Prepare 
a speech on the topic “Mask for safety”.

OR

Report Writing:

(2) You are a representative of the N.S.S. unit of your 
college. Write a brief report of the camp in which various 
social activities including cleanliness have been 
conducted by all the participants.

OR

discussing their likes and dislikes. But all are fascinated 
with the reading habit. Write a short group discussion 
in the form of dialogue telling the importance of reading 

for enhancing knowledge.
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(D) Attempt ‘Any One’ of the following activities:
Film Review:

(1) Write a review of a film which you liked most with the 
help of following points.

- Story / Theme
- Producer I Director
- Special features of direction

- Characters: Conflict
Music / Dance / Songs / Photography etc.

- Your opinion

OR

Expansion of Idea:

(3) Expand the following idea by using the points 
‘Time and tide wait for none’.
- Meaning of the proverb
- Importance of time
- Proper time management
- Add your own points

(2) Compering:
On the occasion of the inaugural function of ‘Sports 
Day’ you have been the responsibility to compere : 
Draft a script of the same. Use the following points.
- Brief introduction
— Lighting the lamp / Inauguration
— Welcome the guests
— Chief guest’s address
- Vote of thanks



OR

SECTION - IV

(LITERARY GENRE - NOVEL)

(2)

(2)

:a

(b) plot, novella, setting, theme
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Appeal:

(3) Prepare an appeal to inculcate the habit:

- Slogans

- Use persuasive appeal
- Its necessity for development

Column ‘B’

(i) The Pilgrim’s Progress

(ii) Gulliver’s Travels

(iii) Raja Mohan’s Wife

(iv) TaleofGenji

Blog writing:
• F

(2) Write a blog in appropriate format on “Necessity 0 
Social awamess” regarding cleanliness /Hygiene in about 

100 to 150 words .

Q. 5. (A) Complete the activities given below as per the instructions : (4) [16]

(i) Match the following items from column-A with those

from the column-B : 
j

Column ‘A’
(a) Murasaki Sikibu

(b) Jonathan Swift

(c) John Bunyan

(d) Bankim Chandra

Chattopadhyay

(ii) Pick the odd word out:

(a) Amit Ghosh, Vikram Seth, Henry Fielding, Amit; 
Desai.
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(C) Answer the following :

Describe how Fix, the detective creates problems for 
Mr. Fogg arresting him for bank robbery and how Mr. 
Fogg tries to solve the problem.

(ii) In what way was Mr. Fogg’s final winning the wager 
connected with Aouda?

(c) place, time, climate, epistolary

(d) horror, mystery, picaresque, thriller

(B) Answer in about 50 words the questions given below.

(i) Describe how Ricky Braithwaite manage to bring about 

a change in the behaviour of his students.

(ii) How does Mr. Braithwaite manage to increase the 

cultural exposure of the class?

(D) Answer the questions given below :

Describe how Sherlock Holmes discovered the 
connection between Miss Morstan receiving precious 

pearls with Major Sholto.

(ii) How does the mystery of Bartholomew’s murder lead 

Holmes to track down small?
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(O T^FHW ^T FTR

(?) wft uTddftf

(?) 3T[ftft?^FRUJ

(^) chlftdl ^tT 4ftld HT3



-3. fWW 3JS2FH ( o )

3 ( 3J ) PiHRdfed

(?) siic^fci Tjyf chi Rim, : (?)

r>(i)
^(ii)

>

(?)

(?) ‘

P.T.OPage 720 5 0

-»(iii)

->(iv)

'UHHdl ’ M? ®nt M 3FtM Ri^R^o it <50 ^|«41 M RtfidU, I (*?)

FTlM

^1^1 "5^1 ^7 
M 'dlddl t

(3) fanfafen w?f MrfoRT M-HHIdlMf ^«h<

(i) ->

(ii) wi —>

(iii) f^RvT —>

(iv) -W —>

<+)|oM nfcKiql L1(och< ^HT 3d^-Hli <J)Riqi I£uf • ( ^ )

■$' <lrich< Mt wt firq,
wM fddchcb<

"3H 3^^if ch^Mdl chidl

M M$dl
M ^WTT
3T^T q^t ^5fq^ M

3fk Mt M Mt RRT M
3fk MrMt <5iHdt efifa-'UT t

3fk M fch’H^ w M
3fk 'UH'^i wf M
3fk f^RT ^Tcl ^t M

<ARh Mt rh M Mt^ <idd MtT



37WRR7 :
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RWPI -V. oMlcj^lRch Weft, 34Mfdd Rc^l

■QlfT^IllMch ( 3TR7-?o )

VT^f

(*)

fftrr 6o ^oo

3T2W
iHHldfed KRK d(och< ^7 3TRTTF ^Pd^TchlPdR: 

ftftR : TR, RcvTRH 3 RRT f^TR ^7 KIR-KIR RTRI fRKTR 

TR qt W7^JI K^lt?

KT, ft<rl<J)Cl WVVH^i^KR^^^TKTSHI 

eRt Rt *RTRI R7[ ft<dR cb<dl FRF chdl 1? 1 $4Hch fdM, 

RW R7 RTTR ^7 SidNI ft^<rl’Mul, R^’A^uf, dlftjch 

WRH KIR-KIR 3TpR^WRT RH 

SW^dl Kteft 11 WR ^lOMldl R7 Met)3TK 

R7t ft^RKj ^fft J|Rri R7 34 P^ KI I Rd RRRI 

KtcH K1 RIR ftWK R7T Rt M<rtfcH RKI RIRT11 

TR^ft, W MovtcH^’ W ftR11<KT21-W1 ftRH 

MtKtart?
34^1 WT ■^T ?p=H I Mrtfcid A’ RT^ ft^K ^7 W1 

fftdH ■R7T W ^ft RKR^jyf KW 11 KRTR 

RKH ftidd-), KlRfftch ft-c||<RKH fft’dd 
% ^FTt ftid ft-dft 3fR STJ^fdRl’ RH^FR £ldl K; 

<RT^ 1 cH ch d I 3R K 1 TRRRt

3Rchl "RTRFR 3^4 Kt ‘R 3TFH t\ ftfFJ 3<4^7

Rc[ 3i?f "ftKIR RH KR?TH

3<4chi RKR^ 3d<R| M>Sdl KR 3R

cRRt K ( 3J ) AnRifed RR KW cTRRR o o o RRRT 3 fttPRU. : ( ^ )
(?) ^RT K^RT l^R^^RnTTRR^^RH RRRl ^R 

cfclftlRI

( 3TT ) Ri^Hftlf^d PhRl Refr RRH R7T

ftlRsiR :
(?) RTjfyRT R7 RH RtK 3d4H K^ ^7 R7RRI ftiRsIR I

( 3 ) TRIT R7t it ft)ch RnRRTcH RW ch|[ft0,1



(?)

(?)

(?)

(X)

TTKlf I (O

P.T.OPage 90 5 0 2

"n^fk *033|(A q|ctq<a^; ciicKi "Rf c||cf^| RT^JT? if iffaj 
t, w4? ^4'W^iT wff rih$A 
f I Cj|cf4l RT cj|cKd Tstff if w

kwff -dfef far, rrr ^rt, -ft^a rhi ft 

Wvnnt i

(?) "^ftid ^jyf :

Movm r wn
3^dic||

31|c|^qcbdi

ftatt

RRR ftiRsIU, :

( ^ ) ‘ faclch, ^tR $fFi HHcl ^t.....

(i) ?II<W CD
(iii) (iv)

(?) "PiHlolfed

(i) 34-C0I —

(ii) «wi —

(iii)
(iv) *WF —

( 3 ) 1 cb<dcjloiI 4)CH RT^T Wd ^R?n f I ’ ft qq

RT Xo 1\O TF^f if SRFf ft-ciK we cblfti^ |

( 3TT) ftHftlfea f■ftRft ^7*e?vR 6o if ^oo ftifeu, :

(?) 'ftfft^ WRiWfVI

( ^ ) seTTR <rl<sM dlcM4 ftiR^R I

372I4T



(51)

(?)

(M

34 4'^ch< 314 I

(?)
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(ii) (3333
(iv) Hid*

(?) ?%r4.
(i)

-*(i)
(ii)
(iii)
(iv)

 4? 3I^*h4v 1^3431(3131 I

 F4^*l(<dl (ii) M3*lf<dl

(iii) <faul* (iv) 3=rf333
  (3) *14*3 34 U^hddl......... I

 (i) 3J3 3T313137 (ii) 3331
 

(iii) 413734 (iv)
 (^) (^frn) ^TsM 4’^3 313 33 W3 373313^311 f* (O 

 
.wn *3 wTn 41 i 

 
(i) falOHId 

 
(iii) 311*13* 

 
( ^ ) PiHfdfald 31H fad 3^WT M6*< ^fd**lfal^ : 

   3ldfdN 7Jd*< 37? 3faj ^371 d^*l 733 4 33 431137733 4$<l 
  

^31 37k 3744 k RG13 34? Rfd3 41 331 31, ^J73 37k 33 41 fakfa I 
3^ 33733 373 3R4 31q4 % 3177 W 7337 77371I ^73 *4^, 

  
3137 <*l41d 37 4*7I '4^7 37 311^4 347 314*1 4? <’Mdl’4 

  3PII, ‘ ‘% [q<^c||4) I ■$’ I 3RTO ^Td) 1? I 1^5 3H VTp3 
   

H^c^ichi^T B33T I 1? R^THFlf! 333 f4<qi4f Tcftcl f I 
 

f^TH 4? 313ft W 3Wh I ’ ’
 

 
3TT3lt? ” 

  3t^^Tf33T3t 
    fW3t 3? Pi chid 1<3T I 33 3333 fHV33 33 f^ETT f3T 33?ft

    3133 f4<i3lWH 3^311 3331-3331 ^331, W TIW1, 4 '333 ^t 
  

chl^D ^£31 I ^31 3r4> 'J? 33 33fa 3331$^ I ’1 
  

3T3 4idl f33313f 3R-3R ‘^331314 I 334 3t 3^ 3113^3) 
 

31, 31^4 3131, “4^ 4, cfr 3134 fW ^3R 11 33l4 31,
  

fad 314311’1 ch^cht 33 B313R ifa 3311 
 (?) PiHPdfed cJTfd tjyf 34(33; : 

 d'Scbl qidfdIM cbvfald*! 

4? 313 ^3 W W1533



(?)

(?)

(X)

oM|cb<u| (3J^-^o)

$ldl 1? I

P.T.OPage 110 205

HTR d^ldd-K ifefe^ ]ft) : (^)

WI Wt&Tf t1

( 3T ) fWdfed qid4T
(^ <Jt):

(O BTT’n?i
(Tjyf cjdHHchM)

( ? ) c^lffeT ydldl 11

( ? ) ^feddl sffc 3j4l<dI if dld^^T%
(SFjyf ^dcbld)

(X) f?T^ fa old I yl^d-xd

(3Fjyf q^Hldcblci)

( 3TT ) Anfefed M fad 413icfad<f

( O ^4f, 1
3jfa?T'3^3 ^(rMdl-dqifeit ^ft 11

(3) irtcft<nfe4fwttWFnttHifri

(?) Anfefed VT^t ^7foFT qqcr|ct)< fefei< :
(i) ■RldMl — (ii) f^ft —-
(iii) oT^t — (iv) —

(?) ‘ ■cSld 41 c<d T? SF^IHd ^T ffed ^o i^o if

fa-dl< fefeiJ, |

($?) AnPdfed if fch^T ‘drfwrfach fefeu, :
(O Judge
(?) Bond
(?) Bye-law
(*) Pay order
(<a) Record
(^) Speed
('s) Optic fibre

(£) Auxiliary memory

chlkjcb 4t'ni ^diarf nfefe
(?)



(?)

(?)

(?)

(x)

(t) (?)

(?) (?)

/
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dldd Rr Riftsm, (TFl^ Tt) :

Anfdfed 4Rd41’ 4 
(O

AnRifed did4Tt4 rr^
(?) TRTRl4 W11
( r) c|Jmh th fcpqi-i 3TR sn^Pich] th ^t f i
(? ) HHR WJ 4> TTR ^HlcbKcb ^Rft t1
(x) THTHTH STHfel 11

♦♦♦

(?) thrttt4i
^l<cbl 44tH dltf H ■f t4 II

( X ) RH 4 Rt ddd4, TRft H^t Hcftd! 4
dlfWHsffTH Hd)dl 411

TH HSdHdR HH^RTH RlfeU. (~^^t): (^) 
■ygd), Tj^cfc -eth ("H^K) Pl^MT^Tt, 
dlRcbl Tt ^4 Rcbld 11 

d-^d, did, <Rd, Rd^id, Rlold, Rddd, olRldld I 

Ht Mtd dTHT t, Tt ^ff ^RTI I 

wn '^Rd W, W H TH dd I 
HR TH HHdH ^TR ^F, TH TH Hddd 11 

frg-TFT THHII
HR Iddo4 T?t? fdrfH RHTI 
3JFH Tf^RT TTRd TH 4W I 
RdIUI1 dddl, 11

RnRifed % srJ Rpttr did4l "4 y4lji <41 Rm, (°Ft^ nt): 

( ) 3TR&* fd^Hl 

(?) TfHHt^RRHT 

(?) HTSt WT T^Hl 

(Y) tW cFTddl
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03

(3) xf'ichdi •

(■^) chcTTfan Wf cb<ull{ fww-

(6)

(?)

(3T)

(?)

H 3TTSnt cpft ^TT :

:

M4dcfr|-oq|

fechlA

IduR<{£cHt :

3-1!eft^d7 ^lct><ul 37/^oV/ /qbqV r/)'qhd7

”p W.
J-> CO'



I

( ? ) WHd SrfMoqcftfl - . (*)

•AT°JXT ~d>cd dlddl, ’ KTf^THNi All

fchdl

d<^ld dTO.

010 5 Page 2

3?, WT^H STTfui^cret'^RT, cbRpI^ 34©qigtf 

MdlXHd TO ^du||^ WWd- 41duIR ddH. cd 14) d ^b A <H<4; 7RT, 

w, wt, w w ^dcwf tottow wfKt -riAA,
i

‘ 31|^All *)A<* dlcfi-qi 

cbaXrlcil 3jsf fdKT.

^A°bA AWr 3ttAt toh HidfichA AAh wA cjxw ^h-omi

WdldcdNI XJTO cdlAA Wd^AX 3P7 

cdl^dl AldfAl, WXTOt, (d^d< TOKXTOt XRRT 3llddul <l$lcft, 

XJX^ Acicdl d^Rdd’ % dddd WTO ! WdAI^T 31 I Al 

d<ld< 3nAcdl dAdTOdl TOW <1dddl fW^T Wft % cdl4^ dofdd. 

1<^dl iftdl 3jddl^H !’ ^rdl TTT^ <dqfd Rch H[5f ARncI 

^dPIdd, ^c-dlcR 311Mdl 3^'chR, 341^1 MARddMull'41

■d^Adl 'JH A<£cdd'H£dl^d. d^HsJ-cqi f^RI ^FTT3

Xd-dd-A snftfT f^wsNn u[

<l^d$l J-ldcd, 'dMuIMI, did"! 'dl£ull'-dl 3Hfu[ <ff Ach'duIMI 

^Adddl ‘3Wcft WTO’ ^dcr-MMI dfecR ^TTO W 3TT^.

3W^ ^A'd) 3ntu. Wf 3TFPT W^TlfTO. cdl^H^d 

XIAd MlA^. 3nwt TOT wf XW^AdHIdl d^l^dl TJ5 WH 

3WA. WX ’TTO 3T^p qTTO IrotfeTO B7TO ^7 xfr^WRIdl 

37TAT 3i|^idl ^dlddl 3W^T 37T^ WfTO ^TOTT

^o3 dAd 31X1A cl ^^ld dl<JK d'ldlldd Wvf WCTOTW dM^ Ald-ld^R 

kA. cf 3TO^dHI«9dl WTTO WTOHT ^dlddl AcTRf, ’dMIX<dl KTO 

XTOH A AWdl?



(4)

(?)

(?)

►

I
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-> C*T)
-»co

( 3JT) ■diAid ddMIMI 3RRR ^ft RRT :

( T) ^Rt RRT :

^nRjI ^d^odMI fe^Al^jd

A^R>A MlfeAAl^t

( T ) ^kA fWT -

(R) A<SlR £d<kd fisl'Scbl 3M«dl, R>HUI......

(T) MIRRIRI pR^RiRk 3^^^ $1lAdl HRdt,

RTRR.........

Rt Stfch'd <Jddl. ^c5 RTdt. ^I^Aid clRd'd^cd Ad*l. cMlMI 

^edAt Cd^At dM^dl. <i^-oMi rrr wAAt Irrt rr 

A13o HA Rih Ml^d*! At 3d|RRdld ddcdljcd^cdld 3TRR 

didAdi. rrAmi rrrt $ii£Ni, ttfrt <5 Al r A did Ater 

dniAdi. omimir<r1 nua-Adld rir ^IhAAI. ?rfrt facifkcii<i 

3RSJR TJ7^ $1lAdI d<ld\ cbl<ul 3TRTT ^bdd AtH-’Hl^dld 

TR c||^ A A 3RRTRL J UIRH dl<M?, At A cd Hdl ^R 3113^. 

RTR ^FT 'HUSK^iAd 3Wf. TTT^nfkai-^lo^l fHdc^|-fa<A<SJI 

3RTWL RF RRT R^cR SdiAd 3d Rd. Hdl 313d, SdinA <sR<g< RH 

%R 3Wf, A ^Ig:d|-cqi RAteA Jdd<l AA^f 3RRL 

3dl<lAR Rkt RI RT ‘gRTed R I’M Al did, ^RT^cdR^ Rjbl-^IR- 

$dld, fch<fHAl-IAodR<-[HqodR< ^RFUcRT HpdhRl 

RlA^R^dld, MICo-RI^Rkr RWRddl RIHRIR^dld. RT RhRlR^ 

kf RT^RTR^ 3TR R^Wf RR RTF 3T%? A1UA tAtRRR 3JTAR? 

cAuld1 RRodlcb 3rA? R^TR Akt kf Rt RT RM Id I 

ArA, 3lAt 3TOkft Hdldl RR RT RTFJR wA? A WldRR ^3 

RTt 3dlfdHcRIR)A RT Hdldl 3Tt^H Ar HlAkl? RHRTRTT PlRdHl 

At 3tte ^II^URRJd RTFJR <lRAl 3rA, eft RT 3TlfRR, 

T%RRRFg^RTRlAt?....



(X)

(*)

(?)(O

— ■?. err.

(?) (?)
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wfafWT :
(4) ^fafa 44fa4 3ife, 4474.......

(1) TIHMfa ^u1fad44^, 4474.

pTTF? 3T[f4 4144 qixqidloi 4747 434 ;d®4*d 44^3 44.

(3) <3Hd srfacdddl :

4 441 4R4, 3444 <SK<g7 44 fe4 3i<ld •

Mild p44dl4l cp$ldl ched^df 314 <4 447.

(^) dsllfad 3dl4l-©MI 344lt 1^17^41447 :

f34H'lpf447 :

(4) ^IR3d 744 4ufa..............

(7) ^$ulfa dfed ©lfa44..........

'WHmA fa3l*il4l11 3dd Ifafa Tfa^TT fafadldl 43<fa4 
^up ddlMdl wfnft M’SUII^, WWI 3TTfa ^HI^cZjci^TT, 

31fw4t 'Ml-oMl -dlcduflcp T[oH 7W?t "W^TT WT ^ufa 

3114^1 ^ll^dld ^RT. ’d 3H%. 4 dl eft'413d fa d4°[ 
3nt. facb'4l3dNI W3d 'HRRl 3TI#. fa 3? <11 feed Ml 4Md 
cb^dld 41 ^fafa ?TWl4 3rfe. STJ'Mddfad, fa^Kdfad, 
T^ldd^H 4 fac|d<4d 41 ^fafa dfeA 4fel^
314, dft 41 fafed 14T 4lcd^41 4 H I'd fa 444 3irfa Pfad efad 

ci. 1J4-3dM4J)ul, ^FT-fa^dl, cb'3jq-<afacb, 4)1414fd 4HT4, 
fedRd-fedlod, [cfach-4fac|4), <dldl^ fd <gdfa 344 

4H1 dfel ^41 di faefad 4fac4l ^fafal 4t31 744 ©33$ Kid 
$fa<dl 374dt 34pn 744131311374 44T41fa 33cd 44c34f4jyf 
4^fd41 44fa c4lfa 4^4414 4174<$»jfa 414 4)ffadl4l
3U4R fadfacdl 4441.



f^WT ? - W [^1

(^)

(T)(^)
►

TTTT- d I '-bd Id, ddd dlcld

di Id "H, 'dH <dldcl

TPT Hldki, 4t HTd^
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(6)

(?)

‘JoT ‘H, d^ci

dl’Srl

tRIdKIdl,

■^nf

TM Hldld, fit Hfd^

chichi 3TH?oTT, Tlfd^

chfa^dlel TqtqiTrT. dd^l

cfidft 3. (3T) ^IrlicT chfarT^f 3K^cfiTT :

( ) ^Idld Sl^ri^n 3Ttc3t cbft^d IWt :

() 31d)dld cbfcdidd< f^<ot|| ■W’^MId ftlcrdch

(^) T^Tdf^TT 'dh-d ■5T^<=blc^|-oM| <Imi^MI WT?! dN^.

(3) Vdldld 4Hdl :



'H, th

Hldld, Tft TJ

(*)

(W) (*)

(*)

1 050

( 3) WHd 3lfT|oL|^dl :

^d<Ml 4|cHA d4d cftfacl-cqi 3d W fWi.

^l^l-cbh^Hl, Wl

Tt^f wffa, Tft tj

<sld)d 3Ttc3Nn 3^sf Rd^i :

<llRdl TTRtyij | 

fcbfad Jj?dl^ul I 

■W^cft <Jidl^' II

‘ cWIT 31ldqd W^TH ^Ml<7

<MldMul ^IdcHQ^I <M|cblUc|(o', 

snfq c^rrat ww ^oddi srwt f^r Hdicfl. ’ 
cRld cblo^HcKil’dld TW ‘3RT.

Page 6

dN^ ^f

(^) ^Idld^chl chldld%1 cjxft^RT :



•uifecMMchu : ^grrfw 3 [?°]

(?)
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4 pjnt tnfn w tn ‘Wi !
4^41 4jMA RTR ni^ll Hlcbodl !

■^TI -Hldr©qi41 ^c3T !riff W nft dlddl

c|0d cbloqifcKl)^ CRT.

cRdt 3. <silrflrl ddl^l| 3JWT ^FRT :

(3J) (O ^dcdT^T dlcRlld ^?dt fWI : 

("n) cb^dloi MldA dld^Rl! ddodjch RTnWTHFfRd <=bl<uI fid’ll. 

(Z) ^Idd?l4 q4Md fw.

rMI-oMI 'qfd'HRldd'A Q,^Kdl Md^d dlKldM R 

•cFeq^ tn WTt. % d-RdHI eft twf, Wd, Ul^fdch TT^, 

cndid<ui wi^ ^ft. Rt n^dl^

MddlHlftl^'cl R?WH 'Hlf^rMld ^m*d< ^14; ^u|d 4 ^ddl ’ 

■^t M^rccjmi nrn ’3Rft. Md^dM 4’ 3T^

^Uldld. ^H<=bld R^nr, wn, MI3h=q| ^eft, 
cHdld<ul ?oMI<7-c| dolled $odc||<qo| <idJl^d ^Idld. 

cb^Hcb’Idld ^ddiA ^4lch<lJl ’m ^<+)4l<MU||<Jd 4)^41 

^|cbi<Mi ift. % wnr <s<rPl£dHI Mldld Mdl^lm°i41 

<dmA nv^ii<ii ndid -mi Anf°i
‘HidRin c||^chiq4d m)41 r°iuniidl nwn nnnt 4 ^^HebA 
qnl'dd 3TR^. RT>rftr5PT ?7 n^erd^f Md«h 3TR?.
nNPdduii<jd 3wn n^ <i$dl. nr^nnnn irshr^i

Mi d Ml ^41, ^nnt, <hichi, Pmi<, n^nm? 41cM^d),
41ddqc^cftPdduiKjd c^T oqcMlMl mAh! eTRR



(?)

(^) 

(X) 

(^)

f^WT - <iQq|Rnd W3t E^J

(X)

(x)

(?°)

wqK
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(?) chilli fd$i :

 WKT’ KT H^rvcIMI W Wit, ^K0! -

kw awl kt mRi^ott 4ktk* w ^«irfia. K^dter
 Midi HI ^I'Wcjldld HPIHIM Hl d1 tw^ ^U<P HI Nd-) 141 TKT

MNl41 ^qod|ch WMeft KRi Wt KT^ q/dlN)l<l4l ‘ W ’PiMefi

iw'ldl ’gHW Vl^ld W KRI.

W^WeT tWT

^. (3T) MsildH<W cb|u|eqi$) cfxft WW : 

 (O ydi^dl^ %sLdHT^i f^T-

(?) HlRdlM^cbA fq?iq ^TT.

(3TT) ^IdldHchl cb^lcHl^ ^^TTt : 
 

(O ‘^’ 

  (?) 4 ^W=f 'WTH ’TO chd)u|
 Kef pqv^TT.

(3) <TT^t’ KT ?iNcfc|-cfl HH^cfrdl Hdcjd K^r.

() KTKWKT KKTKeft KR’UTFKT ‘JK^ KeT WK KKT.

(3JT) ^Idld^chl chluleKI^I fTeft KfeKT :

  (?) 4 ydl<gd1-ql ^cfdHKT Wefld ^Kh>MI :

 ^dqiO-ql kw...... WKt WH-q) eKTKt?Tj4 Klf^dl
  tjtfl^dl^ <3(^<xi oiPluiKl^aJK ^Jlgcpf ^QH^dl^l

( 3 ) ^■(sHl’q) eblu I di 4 Kfa ’ clf?!^ TTC KRT.



[^O ]

(U

(O

(O
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  3ppWa

WTH silod^l :

(?) (^) Acf^i ;

‘Wt’ 'HIHlRnch ^|s<|d)d

( ? ) 310^41^1^ <MH

(?) d^W

(3)

(X) <^§4141 TRRT

 
f^^TPT <a - °Mlch<01 <A<sH

^TT 3TIW WS W :

  ‘TTTf^ft’

dUh^d ^HcbpcJd.

-dlHI-q ^jMl<id 4lcWl cFRfM^d 
 

IP ....... ‘11’1$4>I-c|I 

 (3) 1 <*)<shi41 ’ <aieild y^^idl :

  q^jPi^ai ^Hcedi
 fd^MldlMuil.

 (^) ‘ ^lUsldHl 1 ishcild SFf

c^rft ( 3T) ^cft cFU :

(?) (^) 4tT^Tnf^ Aci^i:
 WTlin 'dcihl 3d|q^dl.

  wctod 41^14 rorfeeilcd^i :
 (?) cbluiitf13iN£dlwntn?

 (?) WTltn cb)<j||eil 3uq£dHnft?
 (?) <WdNwrutn^iici^dlnn?

 (x) cbiuiicbiuii^i e^ici^dlnf^crtn?
 (?) cfrdl «=h~<l :

 
d^l^l^ld Hlcfrfl 3i|ciMld 

 q<1d $lchRl4f cRT.



(?)(?) * t

(?)

(?)

(?)

(y)

(?) 4W Tnfa Plcj^i : (?)

(?)

i

^<ld 3T^f^R 3i)axs^l f^T.
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[ conjunction / disjunction ]

individual

[ specific / any ]

terms.
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Q. 1. (A) Fill in the blanks using suitable words/terms from those 
given in the brackets :

(4) Syllogism has 
[ two / three ]

(1) The rule of addition is based on the basic truth table 
of 

(2) An individual variable stands for 
whatsoever.

[10]
(6)

(3) In proposition, the subject is undistributed,
whereas the predicate is distributed.
[A/O]

Note: (1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Whole statement should be written with answer for objective 

questions.
(4) Answer to each question should be written on a new page.



settings.

(4)

(6) [10]

(4)

(4) Contingency

0 7 3 4 Page 2

(5) Observation is done under 
[ natural / artificial ]

(6) Good hypothesis must be 
[ testable / non-verifiable ]

(B) Give logical terms for the following :
(1) A variable which falls beyond the scope of a quantifier.
(2) An education in which the subject term and the 

predicate term are interchanged.
(3) The fallacy of observation consists in neglecting 

operative conditions.
(4) A guess work as to how facts are connected.

(b) Conditional proof
(c) Material ground of 

induction
(d) Condition of good 

hypothesis

Group ‘A’
(a) Always false

Q. 2. (A) State whether the following statements are True or False:
(1) “ ~ ” is a monadic operator.
(2) A singular proposition makes an assertion about class.
(3) Obverse of‘O’ proposition is ‘I’ proposition.
(4) Validity of syllogism depends upon the conclusion of 

an argument.
(5) A good observer should be impartial and unbiased.
(6) Hypothesis is an important stage in scientific 

investigation.

(5) Contradiction

(B) Match the words in Group ‘A’ with those in Group ‘B’: 
Group ‘B’

(1) Antecedent of the 
conclusion is assumed.

(2) Observation
(3) Self - consistent



(6)

K v G

G zd I

(iii) I K

R 2 (Q D P)

(iii) T zd Q

(iv) S zdP T

(3) (i) A v (B d C)

(ii) C zd D

D

Q. 4.

P.T.O.Page 340 7 3

(2) (i)

(ii) S zd R

Q. 3. (A) Use shorter-truth table method to state whether the following 
statement forms are tautologous or not (Any TWO):

(A) Give opposition of the following propositions as directed 
(Any THREE):

(1) Some doctors are not rich.

[ Sub-contrary and Sub-altern ]

(2) Diamonds are always precious.

[ Contrary and Contradictory ]

[12]
(6)

(1) (D
(ii)

(iii)

(iv) B v E

[12]
(6)

(1) ~pv(pz>q)

(2) po(pvq)

(3) (p v p) = ~ p

(B) Construct formal proof of validity by using conditional proof 
(C.P.) or indirect proof (I.P.) for the following arguments 
(Any TWO) :

/.-. ~A ZD E



(6)

(5) No aeroplane is a boat.

(4) [12]

(1) All museums are historical sites.

All historical sites are monuments.

0 7 3 4 Page 4

(2) Some children are naughty.

(3) Not a single paper is a pencil.

(4) Some arguments are not valid.

No skyscrapers are monuments.

Therefore no skyscrapers are historical sites.

(3) Some chemicals are poisonous.
[ Sub-altem and Contradictory ]

(4) Not a single circle is triangle.
[ Contradictory and Sub-altem ]

(5) Some bags are pink.
[ Sub-contrary and Sub-altem ]

(B) Give Converse and Obverse of the following statements
(Any THREE):

(1) All books are informative.

Q. 5. (A) Give reasons for the following (Any TWO) :

(1) Propositional function is neither true nor false.

(2) Converse of ‘O’ proposition is not possible.

(3) No conclusion can be drawn from two negative 
premises.

(B) Recognize with reasons the formal fallacies committed in the 
following categorical syllogisms (Any TWO): (4)



(2)

(3)

(4)

(4)

(1)

(2)

(3)

(4)

(5)

P.T.O.Page 547 30

All lawyers are orators.
No lawyers are scientists.
Therefore no scientists are orators.

Every story is entertaining.
Every folk song is entertaining.
Therefore every folk song is a story.

No ripe fruit is sour.
Some oranges are not sour.
Therefore some oranges are not ripe fruits.

(C) Symbolize the following propositions using appropriate 
quantifiers and propositional functions given in the brackets 
(Any FOUR) :

All films are entertaining.
[ Fx — x is a film ]
[Ex — x is entertaining ] 

Himalaya is a mountain.
[ Mx — x is mountain ] 
[ h — himalaya ]

Some flowers are beautiful.
[ Fx — x is a flower ]
[ Bx — x is beautiful ]

Not a single pen is red.
[ Px — x is a pen ]
[ Rx — x is red ]

Some ornaments are not expensive.
[Ox — x is an ornament ]
[Ex — x is expensive ]



(6) [12]

(6)

/:. (3x) (Sx • Lx)

/:. (x)(Mx=>Rx)

Sb )

(6) [12]
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(6) Sumit is a dentist and an actor.
[ Dx — x is a dentist ]
[Ax — x is an actor ]
[ S — Sumit ]

Q. 7. (A) Answer the following questions in brief (Any TWO):
(1) ‘Hypothesis is an important stage in scientific 

investigation.’ Explain.
(2) Explain the fallacy of non-observation.
(3) ‘Relevance is the condition of good hypothesis.’ 

Explain with an example.
(4) Differentiate between observation and perception.

Q. 6. (A) Explain the following terms (Any TWO):
(1) Singular proposition.
(2) Draw a square of opposition of proposition and explain 

“Contrary” relation.
(3) Explain and draw any two figures of categorical 

syllogism.

(B) Construct formal proof of validity for the following 
(Any TWO):

(1) (i) (x) (Px z> Sx)
(ii) (3x)(Px-Lx)
(iii) Pa

(2) (i) (x) (Mx Nx)
(ii) (x) (Nx Rx)

(3) (i) (x)(~Axzd~Sx)

(ii) (x) (Jx z> ~ Ax)
(iii) Jb



(6)

>

I

Page 737 30

(B) Answer the following (Any ONE) :
(1) Explain any three factors of origination of hypothesis 

with examples.
(2) What is observation? Explain any two conditions of 

good observation with examples.
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(4)

(5) [20]Q. 1. (A) Complete the correlations :

]:: Micro Economics : Price(i)

] : Land

:Ed= 1.

: Factor

]: : Goods and service tax

(5)
consumer from an
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Macro Economics: [ 
theory

(iv) Output method : Product method : : 
cost method.

Notes : (1) All questions are compulsory.
(2) Draw neat tables / diagrams wherever necessary.
(3) Figures to the right indicate full marks.

Write answers to all main questions on new page.

(ii) Direct demand : Food and Mobiles : : [ 
and Labour.

(v) Personal income tax: [ 
(GST): Indirect tax.

(iii) Perfectly elastic demand : Ed = oo : :

(B) Give economic terms :

(i) Additional utility derived by a 
additional unit consumed.

2022 | III | 19
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(5)(C) Complete the following statements :

(i)

0 7 9 4 Page 2

Whole Economy is studied in 

(a) Micro Economics

(b) Macro Economics

(c) Econometrics

(d) Natural Sciences

(iii) The cost incurred by the firm to promote sales 
(a) Total cost

(b) Average cost

(c) Marginal cost

(d) Selling cost

(a) Flatter

(b) Steeper

(c) Rectangular hyperbola
(d) Horizontal

(ii) When percentage change in quantity demanded is less 

than percentage change in price, the demand curve is

(ii) Price being constant, demand falls due to unfa 

change in other factors.

(iii) Revenue per unit of output sold.
(iv) Period in which all factors of production are variabl

(v) The gross market value of all final goods and services 

produced within the domestic territoiy of a country 

during a period of a year.



(5)

(i)

a

9 470 P.T.O.Page 3

(iv) Budget that consists of revenue receipts and revenue 
expenditure.
(a) Capital budget
(b) Government budget
(c) Revenue budget
(d) Family budget

(v) Purchase of goods and services from one country and 
selling them to another country is.
(a) Entrepot trade
(b) Import trade
(c) Export trade
(d) National trade

(D) Assertion and reasoning questions :

Assertion (A) : Marginal utility (MU) goes on 
diminishing.
Reasoning (R) : Total utility (TU) increases at 
diminishing rate.
Options :
(a) Assertion (A) is true but Reasoning (R) is false.
(b) Assertion (A) is false but Reasoning (R) is true.
(c) Both statements A and R are true and R is the 

correct explanation of A.
(d) Both statements A and R are true and R is not 

the correct explanation of A.

(ii) Assertion (A) : With rising price, supply of 
commodity falls.
Reasoning (R): Seller earns more profit at higher price. 
Options :
(a) Assertion (A) is true but Reasoning (R) is false.
(b) Assertion (A) is false but Reasoning (R) is true.



(iii)

(d)

(iv)

(d)

(v)
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(a)
(b)
(c)

(a)
(b)
(c)

Assertion (A): International trade leads to division of 
labour and specialisation.

Reasoning (R): India’s national trade is not increasing. 
Options:

(a) Assertion (A) is true but Reasoning (R) is false.

Assertion (A): Money market economises use of cash. 

Reasoning (R) : Money market does not deal with 
financial instruments that are close substitutes of money. 
Options:

Assertion (A) is true but Reasoning (R) is false. 
Assertion (A) is false but Reasoning (R) is true. 
Both statements A and R are true and R is the 
correct explanation of A.

Both statements A and R are true and R is not the 
correct explanation of A.

Assertion (A): Index number considers all factors. 

Reasoning (R) : Index number is based on samples. 
Options:

Assertion (A) is true but Reasoning (R) is false. 
Assertion (A) is false but Reasoning (R) is true. 
Both statements A and R are true and R is the 
correct explanation of A.
Both statements A and R are true and R is not the 
correct explanation of A.

(c) Both statements A and R are true and R is the 

correct explanation of A.
(d) Both statements A and R are true and R is not the 

correct explanation of A.



(6) [12]
(i)

(6)

[12]
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(b) Assertion (A) is false but Reasoning (R) is true.
(c) Both the statements A and R are true and R is the 

correct explanation of A.
(d) Both the statements A and R are true and R is not 

the correct explanation of A.

Q. 2. (A) Identify and explain the following concepts (Any THREE): 

Asha collected the information about the income of a 
particular firm.

(ii) Ramesh’s demand for salt remained unchanged inspite 
of a 10% rise in its price.

(iii) Out of4000 kgs of rice the farmer offered to sale 1000 
kgs of rice in the market at ? 40 per kg.

(iv) Shobha collected data regarding the money value of 
all final goods and services produced in the country 
for the financial year 2019-20.

(v) Lucy deposited a lumpsum amount of ? 1,00,000/- in 
the Bank of India for the period of one year.

(B) Distinguish between (Any THREE):

(i) Slicing method and lumping method.

(ii) Joint/complementary demand and competitive demand.

(iii) Total revenue and marginal revenue.

(iv) Price Index Number and Quantity Index Number

(v) Internal debt and External debt.

Q. 3. Answer the following (Any THREE) :

(i) Explain the scope of macro economics.

(ii) Explain any four features of monopoly.

(iii) Elaborate any four features of utility.

(iv) Write any four practical difficulties in national income 
estimation.



[12]

(i)

[8]

(i)

P

(1) Calculate GDP (Gross Domestic Product) on the basis

of above table. (2)

(2) Calculate NDP (Net Domestic Product) on the basis

of above table. (2)

0 7 9 4 Page 6

Q. 5. Study the following table, figure, passage and answer the 

questions given below it (Any TWO) :

(v) Explain the Ratio method of measuring price elasticity of 

demand.

Components
Consumption (C)
Investment (I)
Government Expenditure (G)
Net Export (X-M)
Depreciation (D)

? Crores
800/-
700/-
400/-

-150/-
100/-

Q. 4. State with reasons whether you agree or disagree with 

the following statements (Any THREE) :

There are no exceptions to the law of diminishing marginal 

utility.

(ii) Supply curve of labour is backward bending.

(iii) Price under perfect competition is decided by the interaction 

between demand and supply.

(iv) Capital market plays an important role in India.

(v) Balance of Payment is same as Balance of Trade.



yt y.(2)
D

DD

O

(3) X (4) X
D Dx
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(iii) Commercial banks act as intermediaries in the country’s 
financial system to bring the savers and investors together. 
They are profit seeking financial institutions. Due to bank 
nationalisation in 1969, there was increase in loan 
disbursement in urban and rural areas. Agriculture and retail 
traders started getting more loans. Those sectors which were 
not getting loans before 1969, started getting loans in post 
nationalisation period. After nationalisation of bank branch 
expansion took place. There has been diversification in the 
functions of banks. Commercial Banks are providing

(ii) Identify the pri 
diagrams:

-----------------_XD
I 
I 

------ -1  l>x
Q Qi

Qty. demanded

P
R
I P
C
E
<■

Tice elasticity of demand from the following

I

Q Q, x 
Qty. demanded

--------- ID—->
B x 

Qty. demanded

P P
I * 
CP' 
E

<— 
O

---------------- >x
Qty. demanded

(1)
P
RP 
1
C P| 
Ep* 

r 2

*0

p p

T * cp>
E

*~0



[16]

e
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(1)

(1)

(2)

different types of services like safe deposit lockers, D-mat 
facility, internet banking, mobile banking etc.

(1) Write any two benefits of Bank nationalisation.

(2) Write various services provided by banks.

(3) Write your opinion about the above passage.

Q. 6. Answer the following questions in detail (Any TWO ) :

(i) Explain the concepts of variation and changes in demand 
with the help of diagrams.

(ii) Explain the meaning of index number. Explain various steps 
involved in the construction of index number.

(iii) Explain various sources of public revenue.
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Q. 1. (A) Fill in the blanks using appropriate words from those given 
in the brackets and rewrite the statements :

V)
(3)

Note : (1) All questions are compulsory.
Figures to the right indicate full marks.
Answer to every question must be started on a separate page.

[20]
(6)

(1) ‘Entelechy’ is a word.
[ Latin, Greek, English]

(2) According to Charvaka when different material 
substances come together in a peculiar combination 
then is manifested.
[ intellect, consciousness, insight]

(3) Descartes wanted to prove that is wrong.
[ Rationalism, Pragmatism, Scepticism]

is the highest Purushartha.
[ Moksha, Dharma, Artha]

is the study of the laws of nature.
[ Philosophy, Science, Religion]

experiences include natural and man-made 
elements.
[Aesthetic, Imaginary, Mystical]



(4)

(6)

(2).

(4)

an

[10]

50 8 1 Page 2

Three elements 
of Prakriti

Three Jewels 
given by Jaina 

Darshana

Q. 2. Answer the following questions in 20 to 25 words each 
(Any FIVE):
(1) According to Leibniz what is monad?
(2) What is Cosmology?

(D) Give philosophical terms used for the following :
(1) The term used in Jaina Darshana for the minutest 

particles of matter.
(2) A means to attain prama.
(3) A branch of philosophy which evaluates whether 

action is morally good or bad, right or wrong.
(4) A form of art in which appreciation is the main motive 

behind creativity and not the utility of thing.

(B) Find the odd word/ pair out from following words/phrases 
and write it.
(1) Thales - Monist, Parmenides - Pluralist, Anaximenes - 

Monist, Heraclitus - Monist.
(2) Descartes, Locke, Berkeley, Hume.
(3) Rupa skandha, Vedana skandha, Asamskara skandha, 

Sandnya skandha.
(4) Stones, Soil, Ores, Plants.

(C) Complete the following concept map/ table/flow chart:

(1)



Q. 3. 19]

(6) [16]Q. 4.

(10)

5180 P.T.O.Page 3

Write short notes on the following (Any THREE) :
(1) Satkaryavada
(2) Plato’s notion of self (Soul)
(3) Perception (Pratyaksha)
(4) Artha Purushartha
(5) Aesthetic Experience

(3) What is the nature of ‘I’ according to Advaita Vedanta?
(4) Define inference.
(5) What are the types of change given by Aristotle?
(6) What is Bioethics?
(7) What is cognitive perspective?

(A) Distinguish between (Any TWO):
(1) Cause and Effect.
(2) Jaina’s view of self and Charvaka’s view of self.
(3) Correspondence theory of truth and coherence theory 

of truth.
(4) Visual Art and Audio Art.

(B) State with reason whether the following statements are true 
or false (Any FIVE):
(1) Leibniz is monist.
(2) According to Nyaya metaphysics most of the objects 

in the world are divisible.
(3) Sankhya Darshan do not accept the independent 

existence of soul.
(4) The act of decorating is not confined only to humans.
(5) According to Advaita Vedanta soul is body.
(6) According to Charvaka Darshan, knowledge illuminates 

the object of knowledge in the manner in which a lamp 
illuminates objects in the world.

(7) Human beings were just like other animals at the 
beginning of the journey of evolution.



Q. 5.
[10J

[51

e
Q.7 [10]
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Answer any ONE question in 150 to 200 words :
(1) Explain in detail Descartes’dualism and Spinoza’s monism.
(2) Explain in detail Ethics of Buddhism.

Q. 6. Write a dialogue addressing the following philosophical 
concept/ problem/situation (Any ONE) :
(1) The peculiarity of aesthetic experience is such that it is always 

pleasurable.
(2) Write a dialogue between a teacher and a student about 

advantages and disadvantages of biotechnology.

Explain the following concepts/ statements in 80 to 100 
words with examples (Any TWO) :
(1) Fourfold theory of causation.
(2) According to Bauddha Darshana, Continuity is not etemality 

or permanence.
(3) Mind is a ‘Tabula Rasa’ means a clean slate.
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(a) Sir George Oxenden
(c) Queen Elizabeth

(b) Princess Braganza
(d) Charles

(b) Thomas Jefferson
(d) Lord Cornwallis

Q. 1. (A) Choose the correct alternatives and rewrite the statement:
(1) In 1609 made a modified telescope.

(a) John Key (b) Copernicus
(c) Galileo (d) Kepler

(2) America’s ‘Declaration of Independence’ was drafted 
by■
(a) George Washington i
(c) Lord Amherst i

(3) ‘Arya Samaj’ was founded by 
(a) Raja Ram Mohan Roy
(b) Swami Dayanand Saraswati
(c) Ramaswamy Naikar
(d) Mahatma Phule

(4) The license was given by England to the East India 
Company to trade with the eastern countries by

Instructions:
(i) All questions are compulsory.
(ii) Figures to the right side indicate full marks.
(Hi) Draw concept maps with pens in the answer sheet.
(iv) Start a new question on a new page.



(4)
(1)

(2)

(3)
(i)

(4)
(i)

(ii) Fazal Ali Commission
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Group ‘B’ 
Flying Shuttle 
Cotton gin 
Power loom 
Steam Engine

Group CB’ 
German Colony 
British Colony 
Dutch Colony 
Portuguese Colony

Group ‘B’ 
Woodrow Wilson 
Winston Churchill 
Hitler 
Linlithgow 
Group ‘B’ 
To support research 
institutes of agricultural 
science 
Commission for 
pollution control 
Opening the world for 
free trade 
Promoting scientific 
environment in India

(iii) World Trade
Organization

(iv) Indian Science
Congress Association

(5) The birth anniversary of Swami Vivekanand is 
observed as.
(a) National Education Day
(b) National Integration Day
(c) National Youth Day
(d) National Science Day

(6) The first district in to become 100% literate is
Emakulam.
(a) Kerala (b) Gujarat
(c) Karnataka (d) Tamil Nadu

(B) Find the incorrect pair from every set in group B and write 
the correct ones :

Group ‘A’
(i) John Key
(ii) Samuel Crompton
(iii) Edmond Cartwright
(iv) James Watt

Group ‘A’
(i) Togoland
(ii) Egypt
(iii) Orange Free State
(iv) Ivory Coast

Group ‘A’ 
America

(ii) England
(iii) Germany
(iv) Italy

Group ‘A’
Indian Council for
Agricultural Research



(4) 18]

(4)
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Q. 2. (A) Write names of historical places/persons/events:
(1) Scientist who told the world that the centre of our 

planetary system is the ‘Sun’ and not the ‘Earth’.
(2) State which merged in India in 1975.
(3) The founder of Azad Hind Sena.
(4) The group of nations like England, France, Russia in 

the first world war.

(B) Choose the correct reason and complete the sentence :
(1) Charles II leased Mumbai’s port to the East India

Company because 
(a) The king was going to receive more revenue from 

it.
(b) The East India Company wanted Mumbai’s port 

for the purpose of trade.
(c) The expenditure for the maintenance exceeded 

the income earned.
(d) Mumbai was too far away for the king to 

administer.

(2) The Nawab of Junagadh escaped to Pakistan because

(a) The Nawab was going to receive a large territory 
in Pakistan.

(b) People of the Princely State were going to 
imprison him.

(c) People of the Princely State had no faith in the 
Nawab.

(d) People opposed merger and raised agitations 
against him.

(3) Independent India launched several plans for rural 
development 
(a) Because rural India was not developing.
(b) Because speed of rural development was slow.
(c) So that there should not be imbalance in the 

development of cities and rural areas.
(d) Because there was no need of development of 

rural areas until then.



Q. 3. (A) Observe the map and answer the questions based on it: (5) [13]

(1)

0

(4) The Supreme Court issued an order of using CNG for 
public transport vehicles in Delhi because 
(a) It was easier to use CNG.
(b) CNG is easily available than petrol or diesel.
(c) Centre for Science and Environment recommended 

it to reduce pollution.
(d) The number of public transport vehicles is very 

less in Delhi.

Where did the French establish their colonies on the 
East Coast of India?
Which power ruled the State of Nagpur?

Page 4

(2)
8 I 7 I 2



(3)

(4)

(5)

(8)

(1)

-5

<■ ■>

(3)

\
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Causes 
of the 
rise of 

colonialism

Establishment 
of United East 
India Company

Newspapers 
started by 

Dr. Babasaheb
Ambedkar

First French 
factory 

established 
at Surat

31s1 December
1600

Year 
1664

(2) Complete the given timeline regarding European 
Colonialism:

Where did the British establish their factory along the 
western coast of India?
Who established a colony on the western coast at Goa 
in India?
Who ruled the State of Gwalior?

(B) Complete the concept map (Any FOUR):



(4)

■>

(5)

8

37

6
5

(6)

(6) [15]
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Q. 4. (A) Write short notes (Any THREE):
(1) European Crusades
(2) American war of Independence
(3) War tactics of the Portuguese

Work done by
Parallel 

government for 
welfare of 

people of Satarak^

Divergent 
Political 
Systems

Indian Medical 
Practices

Increasing 
Terrorism

Challenges for 
SAARC to 

tackle

Economic 
disparity 
among 

member nations

\ Inadequate
infrastructure
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Answer the following questions in detail (Any TWO) :
(1) How did Spain establish its colonies in America?
(2) Write the information about the Quit India movement of 

1942.
(3) Explain the aftermath of the cold war.

Q. 5. State your opinion (Any THREE) :
(1) Portuguese had intolerant policies towards Indians.
(2) According to Swatantryaveer Savarkar the Independence 

war of 1857 was the First War of Independence.
(3) End of the Second World War created an environment in 

which the process of decolonization gained speed.
(4) India always took stand against colonialism.
(5) Everyone should take care of the places of tourism.

Q. 7. Answer the following questions with the help of given points 
(Any THREE):

(1) Write a note on Afghan - Maratha relations :
(a) First invasion of Abdali in 1748
(b) Third invasion of Abdali in 1757
(c) Fourth invasion of Abdali in 1759 (Third battle of Panipat)

(4) Prarthana Samaj
(5) Youth related policies of Government of India

(B) Explain the following statements with reasons
(Any THREE):
(1) Industrial Revolution began in England.
(2) Policies adopted by Rajarshi Shahu Maharaj were 

progressive.
(3) Princely State of Hyderabad merged in India.
(4) India had to take part in both first and second world 

wars.
(5) The Right to Information Act was implemented in India.
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(2) Write about the merger of Kashmir princely state :
(a) Invasion of armed intruders from border of Pakistan
(b) Instrument of Accession
(c) Merger

(3) Explain the impact of both world wars :
(a) Loss of life and economy
(b) Stand taken by Indian National Congress
(c) Impact on England

(4) Write about the liberation (freedom) of colonies :
(a) Maldives
(b) Sri Lanka

(5) Write the information about Rahibai Pupere’s work for 
preservation of seeds of native variety :
(a) Beginning of work
(b) Contribution
(c) Awards



DAY SEAT NUMBER

2022 | III | 30 1500 (E)J-881

SOCIOLOGY (45)

Max. Marks : 80Time : 3 Hrs. (6 Pages)

[20]

(5)

P.T.O0 8 8 ”1 Page 1

22

h Note: (1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Minimum 4 points are expected for sub-questions of 4 marks.
(4) Write answers to each question on a new page.

(3) India has adopted 
[two, three, four]

(4) The use of computers to streamline job application is 
called.
[industrialization, globalization, digitalization]

Q. 1. Attempt the objective type questions.
(A) Complete and rewrite the following statements by selecting 

appropriate alternatives given in the brackets :
(1) Shvetambara and Digambara are two sets of.  

[Hinduism, Buddhism, Jainism]

(2) Over 55% of tribal population in India is found in the
 region of the country.

[Western, Central, Southern]

-language formula.

4*^ i



Mahatma Jyotiba Phule,

(5)

on

Terrorism

Casteism

Regionalism

1929
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1856
1870

(5) The message, “educate, organize, agitate was given 

by•  
[Dr. B. R. Ambedkar, 
Maharishi Karve]

(B) Correct the incorrect pair in following and rewrite it:
(1) (I) Fire temple — Parsis

(II) Langar — festival
(III) Sangam Period — Tamilnadu and Kerala
(IV) Upanishadas — Hinduism

(2) (I) Warli rain dance — Kambad dance
(II) Initiative for rural — Community Development

development Programme
(III) Three tier system — Integrated Rural

of governance Development Programme
(IV) Sewage problem — Urban Community

(3) (I) Conflict based on — Linguism
language

(II) Conflict based on
religion

(III) Conflict based on
caste

(IV) Conflict based on
region

(4) (I) The Sati Prohibition
Act

(II) The Widow
Remarriage Act

(III) The Female
Infanticide Act



(5)

(5)
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(5) Depressed classes Education Society.

(D) Correct the underlined words, complete and rewrite the 
statements:
(1) Golden temple is built at Jalandar.
(2) The New Economic Policy is popularly called as BPL 

policy.
(3) The Quit India Resolution was passed in the year 1932.
(4) Dominance of caste system is found in tribal 

community.
(5) Judaism is polytheistic religion.

(2) Worshipping the natural forces like Sun, Fire, Water.
(3) It can lead to physical health problems.

(4) Finance Minister at the time of New Economic Policy 
of 1991.

(IV) The Age of consent— 1891 
at Marriage Act

(5) (I) Domestic Violence — Abuse within the family

(II) Crop insurance — To increase crop
productivity

(III) Psychological trauma — Psychiatric treatment
(IV) Patriarchy — Male dominance

(C) Identify the appropriate term from the given options in the 
box and rewrite it against the given statement:

Naturism, Arya Samaj, Dr. B. R. Ambedkar, Narcotic 
drugs, Dr. Manmohan Singh, Brahmo Samaj

(1) An association established by Swami Dayanand 
Saraswati.



[8]Q. 2.

[12]

[8]

(4) [12]Q. 5. (A) Complete the concept map :

I

(8)
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Causes of Social 
Movement

Write short notes on the following (Any TWO) .
(1) Consequences of colonialism in India.
(2) Chipko movement.
(3) Characteristics of globalization.

Q. 3. Differentiate between (Any THREE) :
(1) Christianity and Islam
(2) Rural Community and Tribal Community
(3) Casteism and Communalism
(4) Language diversity and Regional diversity
(5) Mobile addiction and Drug addiction

Q. 4. Explain the following concepts with examples (Any TWO) :
(1) Varna System
(2) Modernization
(3) Digitalization

(B) State whether the following statements are True or False with 
reasons (Any TWO) (Any Three points):
(1) Economic inequality has no effect on Society.
(2) Globalization has created several problems.

(3) Modem industry is based on profit making.
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Q. 6. (A) Read the following passage and answer the questions given 
below:

[101
(6)

Read the make-believe speech made by a representative 
of the Governing Body to its Executive Committee meeting, 
in a well-known international firm located in Pune.

“Good Morning. The Board of Directors has asked 
me to communicate with you all a policy decision that has 
been taken by the higher management. Two policies have 
been taken by our company. One, there shall be a 
confidential, two-way appraisal of all employees from the 
coming financial year. Every employee will be assessed by 
one’s immediate senior, one’s team members and by oneself 
through self-appraisal. Juniors will also assess the seniors 
to whom they report. There are specific criteria on which 
assessment will take place. A second policy decision is for 
the company to make every effort to ‘Go Green’ in keeping 
with the international commitment towards a cleaner and 
greener environment. You may please share this decision to 
members of your respective departments today, through 
our e-portal systems. Feedback from all employees are 
welcome but they must be made within a week from today, 
to the Human Resource Department, via the e-portal.”

(1) How are the policies adopted by the Board of Directors 

beneficial ?

(2) In what ways can you promote “Go Green” in your 

community ?



(4)

[10]
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Q. 7. Answer any ONE of the following questions in detail in about 
150-200 words :

(1) Urban community is facing several problems. Elaborate ‘any 
five’ problems and suggest measures to solve these 
problems.

(2) There are various types of addiction. Elaborate their causes 
and consequences.

(B) Give your personal response on the following statements

(Any ONE):
• • • st(1) Social reform movements are still continuing in 21 

century in India.
(2) Give your suggestions to overcome the problems faced 

by the aged.
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